o T b (o0 (oD addition av brak (samma nimnare)

namn: Datum: Poéng:
5 2 1 7
_ 4+ - = — 4 — =
3 3 9 9
2 2 2 1
I-+-= —+1-=
5 5 4 4
3,2_ RS
8 8 3 3
7 1 6 4
6 6 9 9
I 5 I 3
S+ Il= l-+==
4 4 5 5
7 6 2 3
9 9 6 6
l+11— é+21—
4 4 2 2
6 3 1 2
— 4+ = = — 4 - =
9 9 7 7
5 1 2 3
Z 4+ - = — 4+ - =
6 6 6 6
2 3 7 3
4= S 41t =
55 4 4
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o e G oo o addition av brak (samma nimnare)

namn: Datum: Poéng:
5 2 7 1 1 7 38
4= =2- 4y Ll==

3 3 3 73 9 9 9
12+2_9_14 2+N—7—13
5 5 5 5 4 4 4 4
3,2_5 11+21__11_32
8 8 8 3 73 3 73
7 1 4 1 6 4 10 1
Sy =—=1- = =1
6 6 3 3 9 9 9 9
1 5 3 1 3 9 4
4 ==1- l—+2=2=1-
4 4 2 5 5 5 °5
7 6 13 4 2 3 5
e Sy ==

9 9 9 9 6 6 6

1 1 3 1 5 1
1= =1- —+2— =

st 77 1 ;t25 70

6 3 1 2 3
_-|__:1 __-|___:_

9 9 77 7

5 1 2 3 5
“+-=1 Sy =2

6 6 6 6 6
2.3, To3-7_41
55 4 "4 2 2
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